SAP ABAP table ROIUVL TCWC {Tax Class - Well Completion}

.
P

ROIUVL TCWC-TAX CLASS = OIU CM TAXCLS-TAX CLS

—_

—_— -

-~ 0.N

_— -
—
P

— — -
—_——

________ MANDT [CLNT (3)]

————— 0..N [BUKRS [CHAR (4)]

OlU_CM_LXPGL
0.N | MANDT [CLNT (3)]
LANDI [CHAR (3)]
PRI_GEO_LOC [CHAR (2)]

OIU_CM_SCHDCD

MANDT [CLNT (3)]

0..N | SCHOOL DIST_CD [CHAR (3)]

PRI_GEQO _LOC [CHAR (2)]

LAND [CHAR (3)]

OIU_ CM _TAXCLS
MANDT [CLNT (3)]
COUNTRY [CHAR (3)]
PRI_GEO_LOC [CHAR (2)]
TAX_CLS [CHAR (4)]

OlU DO DI
MANDT [CLNT (3)]
| BUKRS [CHAR (4)]
VNAME [CHAR (6)]
DOI_NO [CHAR (5)]

OlU_DO JV
MANDT [CLNT (3)]
~~~~ 0..N | BUKRS [CHAR (4)]
VNAME [CHAR (6)]

OlU_PR_MP
“““ 0N |MANDT [CLNT (3)]
MP_NO [CHAR (20)]

OIU_PR_WC

WL _NO [CHAR (15)]
WC_NO [CHAR (5)]

OIU_PR_WELL

MANDT [CLNT (3)]
WL NO [CHAR (15)]

TOO1
MANDT [CLNT (3)]

TOO5
MANDT [CLNT (3)]
_ - -0..N [LAND1 [CHAR (3)]




